Base Bid -	Lindsey Dr (1250 x 25), Edgemount Ct (205 x 25)			Engineer's Estimate		Humphrey Concrete		Jefferson Contracting LLC	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
1	MOBILIZATION	1	LS	\$10,000.00	\$10,000.00	\$6,800.00	\$6,800.00	\$12,500.00	\$12,500.00
2	MAINTENANCE OF TRAFFIC	1	LS	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00
	CLEARING AND GRUBBING , (INCLUDES REMOVAL								
3	AND REINSTALLATION OF SIGNS AND MAILBOXES)	1	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
4	REMOVE EXISTING CATCH BASIN	1	EACH	\$500.00	\$500.00	\$400.00	\$400.00	\$500.00	\$500.00
	REMOVE CONCRETE SIDEWALK (FOR AREAS NOT								
5	TO BE REPLACED)	60	SF	\$5.00	\$300.00	\$5.00	\$300.00	\$5.00	\$300.00
	REMOVE EXISTING CONCRETE ROADWAY								
6	INCLUDING EXISTING CURB	4450	SY	\$22.00	\$97,900.00	\$20.00	\$89,000.00	\$19.00	\$84,550.00
	EXCAVATION TO PROPOSED SUBGRADE, UNDER								
7	EXISTING PAVEMENT	4450	SY	\$5.00	\$22,250.00	\$3.00	\$13,350.00	\$6.00	\$26,700.00
	EXCAVATION TO PROPOSED SUBGRADE, IN								
8	LANDSCAPE ISLAND	100	SY	\$5.00	\$500.00	\$25.00	\$2,500.00	\$10.00	\$1,000.00
9	SUBGRADE RESHAPING AND COMPACTING	4550	SY	\$1.50	\$6,825.00	\$1.25	\$5,687.50	\$2.00	\$9,100.00
10	EROSION & WATER POLLUTION CONTROL	1	LS	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
11	MIRAFI 600X OR EQUIVALENT WOVEN GEOTEXTILE	3900	SY	\$2.50	\$9,750.00	\$2.50	\$9,750.00	\$2.00	\$7,800.00
12	YARD RESTORATION (4" TOPSOIL, SEED AND	1750	SY	\$5.00	\$8,750.00	\$5.00	\$8,750.00	\$2.00	\$3,500.00
	4" CRUSHED STONE BASE (LESS THAN 7% FINES)								
13	COMPACTED TO 100%	4150	SY	\$10.00	\$41,500.00	\$8.00	\$33,200.00	\$10.00	\$41,500.00
	CRUSHED STONE BASE, (LESS THAN 7% FINES) FOR								
	SUBGRADE REPAIR (INCLUDES EXCAVATION AND								
14	DISPOSAL OF UNSUITABLE MATERIAL)	140	CY	\$35.00	\$4,900.00	\$30.00	\$4,200.00	\$16.00	\$2,240.00
	GEOGRID REINFORCEMENT FOR SUBGRADE REPAIR								
15	(TENSAR BX 1200 OR EQUIVALENT) (10%)	415	SY	\$5.00	\$2,075.00	\$4.00	\$1,660.00	\$3.00	\$1,245.00
	8" PCC PAVEMENT W/ GRANULAR BASE AND								
16	INTERGRAL ROLLED CURB	4150	SY	\$68.00	\$282,200.00	\$62.00	\$257,300.00	\$69.00	\$286,350.00
	9" PCC PAVEMENT W/ INTERGRAL ROLLED CURB.								
17	NO GRANULAR BASE. (3 DAY MIX)	400	SY	\$75.00	\$30,000.00	\$65.00	\$26,000.00	\$73.00	\$29,200.00
18	6" CONCRETE APRON/DRIVEWAY REPLACEMENT	3500	SF	\$12.00	\$42,000.00	\$11.00	\$38,500.00	\$12.00	\$42,000.00
19	4" CONCRETE SIDEWALK REPLACEMENT	2300	SF	\$12.00	\$27,600.00	\$10.00	\$23,000.00	\$10.00	\$23,000.00
20	ADA CURB RAMP W/ DETECTABLE WARNINGS	4	EACH	\$1,000.00	\$4,000.00	\$500.00	\$2,000.00	\$1,000.00	\$4,000.00
	4" RIGID PERFORATED PVC UNDERDRAIN SYSTEM -								
21	INCLUDES TRANSVERSE UNDERDRAINS	2750	LF	\$12.00	\$33,000.00	\$11.00	\$30,250.00	\$10.00	\$27,500.00
	CROSS WALK MARKINGS W/ LONGITUDINAL								
22	STRIPING, WHITE PAINT, PER DETAIL	1	EACH	\$1,000.00	\$1,000.00	\$250.00	\$250.00	\$2,000.00	\$2,000.00
23	24" STOP BAR, WHITE PAINT	15	LF	\$15.00	\$225.00	\$20.00	\$300.00	\$30.00	\$450.00
	ADJUST SANITARY MANHOLE TO GRADE PER SD1	_		<u> </u>					
24	SPECS	2	EACH	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00
	REMOVE AND REPLACE CASTINGS ON DOUBLE								
25	GRATE CURB INLET (VANE GRATE)	2	EACH	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00	\$2,600.00	\$5,200.00
26	DOUBLE GRATE CURB INLET	1	EACH	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$4,350.00	\$4,350.00
	Total Base Bid				\$656,275.00		\$571,697.50		\$620,485.00

Alternate	Bid - Hergott Drive (725 x 25)			Engineer's Estimate Humph		Humphre	ey Concrete	Jefferson Contracting LLC	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
1	MOBILIZATION	1	LS	\$15,000.00	\$15,000.00	\$6,800.00	\$6,800.00	\$2,500.00	\$2,500.00
2	MAINTENANCE OF TRAFFIC	1	LS	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00
	CLEARING AND GRUBBING , (INCLUDES REMOVAL						. ,	•	
3	AND REINSTALLATION OF SIGNS AND MAILBOXES)	1	LS	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
	REMOVE CONCRETE SIDEWALK (FOR AREAS NOT			•			. ,	•	
4	TO BE REPLACED)	20	SF	\$5.00	\$100.00	\$5.00	\$100.00	\$5.00	\$100.00
	REMOVE EXISTING CONCRETE ROADWAY			•				•	
5	INCLUDING EXISTING CURB	2450	SY	\$22.00	\$53,900.00	\$20.00	\$49,000.00	\$19.00	\$46,550.00
	EXCAVATION TO PROPOSED SUBGRADE, UNDER								
6	EXISTING PAVEMENT	2450	SY	\$5.00	\$12,250.00	\$3.00	\$7,350.00	\$6.00	\$14,700.00
7	SUBGRADE RESHAPING AND COMPACTING	2450	SY	\$1.50	\$3,675.00	\$1.25	\$3,062.50	\$2.00	\$4,900.00
8	EROSION & WATER POLLUTION CONTROL	1	LS	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
9	MIRAFI 600X OR EQUIVALENT WOVEN GEOTEXTILE	2300	SY	\$2.50	\$5,750.00	\$2.50	\$5,750.00	\$2.00	\$4,600.00
10	YARD RESTORATION (4" TOPSOIL, SEED AND	900	SY	\$5.00	\$4,500.00	\$5.00	\$4,500.00	\$2.00	\$1,800.00
	4" CRUSHED STONE BASE (LESS THAN 7% FINES)				. ,		. ,	•	. ,
11	COMPACTED TO 100%	2450	SY	\$10.00	\$24,500.00	\$8.00	\$19,600.00	\$10.00	\$24,500.00
	CRUSHED STONE BASE, (LESS THAN 7% FINES) FOR			•				•	
	SUBGRADE REPAIR (INCLUDES EXCAVATION AND								
12	DISPOSAL OF UNSUITABLE MATERIAL)	100	CY	\$35.00	\$3,500.00	\$30.00	\$3,000.00	\$16.00	\$1,600.00
	GEOGRID REINFORCEMENT FOR SUBGRADE REPAIR			•			. ,	•	
13	(TENSAR BX 1200 OR EQUIVALENT) (10%)	250	SY	\$5.00	\$1,250.00	\$4.00	\$1,000.00	\$3.00	\$750.00
	8" PCC PAVEMENT W/ GRANULAR BASE AND								
14	INTERGRAL ROLLED CURB	2125	SY	\$68.00	\$144,500.00	\$62.00	\$131,750.00	\$69.00	\$146,625.00
	8" PCC PAVEMENT W/ GRANULAR BASE AND			•				•	
15	INTERGRAL ROLLED CURB (3 DAY MIX)	325	SY	\$68.00	\$22,100.00	\$65.00	\$21,125.00	\$75.00	\$24,375.00
16	ASPHALT PAVEMENT JOINT	3	EACH	\$1,000.00	\$3,000.00	\$1,300.00	\$3,900.00	\$1,000.00	\$3,000.00
17	6" CONCRETE APRON/DRIVEWAY REPLACEMENT	2600	SF	\$12.00	\$31,200.00	\$11.00	\$28,600.00	\$12.00	\$31,200.00
18	4" CONCRETE SIDEWALK REPLACEMENT	1000	SF	\$12.00	\$12,000.00	\$10.00	\$10,000.00	\$10.00	\$10,000.00
19	ADA CURB RAMP W/ DETECTABLE WARNINGS	2	EACH	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
	DOWNSPOUNT CONNECTION TO UNDERDRAIN								
	AND INSTALL CLEANOUT, INCLUDES EXTENSION OF								
20	6" DOWNSPOUT PIPE WITH NEW PVC PIPE	1	EACH	\$500.00	\$500.00	\$200.00	\$200.00	\$500.00	\$500.00
	4" RIGID PERFORATED PVC UNDERDRAIN SYSTEM -								
21	INCLUDES TRANSVERSE UNDERDRAINS	1800	LF	\$15.00	\$27,000.00	\$11.00	\$19,800.00	\$10.00	\$18,000.00
22	24" STOP BAR, WHITE PAINT	15	LF	\$15.00	\$225.00	\$20.00	\$300.00	\$30.00	\$450.00
23	6" CROSSWALK LINE, WHITE PAINT	75	LF	\$15.00	\$1,125.00	\$10.00	\$750.00	\$16.00	\$1,200.00
	ADJUST SANITARY MANHOLE TO GRADE PER SD1								
24	SPECS	1	EACH	\$500.00	\$500.00	\$250.00	\$250.00	\$500.00	\$500.00
	REMOVE AND REPLACE CASTINGS ON DOUBLE								
25	GRATE CURB INLET (VANE GRATE)	2	EACH	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00	\$1,200.00	\$2,400.00
	Total Alternate Bid				\$383,575.00		\$327,837.50		\$344,250.00
	Total Base Bid + Alternate Bid				\$1,039,850.00		\$899,535.00		\$964,735.00

Base Bid -	Lindsey Dr (1250 x 25), Edgemount Ct (205 x 25)			TMS Construction Inc.		Rector Excavating, Inc.	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
1	MOBILIZATION	1	LS	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
2	MAINTENANCE OF TRAFFIC	1	LS	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
	CLEARING AND GRUBBING , (INCLUDES REMOVAL			,	•		. ,
3	AND REINSTALLATION OF SIGNS AND MAILBOXES)	1	LS	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
4	REMOVE EXISTING CATCH BASIN	1	EACH	\$500.00	\$500.00	\$1,000.00	\$1,000.00
	REMOVE CONCRETE SIDEWALK (FOR AREAS NOT						
5	TO BE REPLACED)	60	SF	\$5.00	\$300.00	\$2.00	\$120.00
	REMOVE EXISTING CONCRETE ROADWAY						
6	INCLUDING EXISTING CURB	4450	SY	\$21.00	\$93,450.00	\$20.00	\$89,000.00
	EXCAVATION TO PROPOSED SUBGRADE, UNDER				•		
7	EXISTING PAVEMENT	4450	SY	\$4.50	\$20,025.00	\$3.50	\$15,575.00
	EXCAVATION TO PROPOSED SUBGRADE, IN				•		·
8	LANDSCAPE ISLAND	100	SY	\$12.00	\$1,200.00	\$8.00	\$800.00
9	SUBGRADE RESHAPING AND COMPACTING	4550	SY	\$1.50	\$6,825.00	\$4.00	\$18,200.00
10	EROSION & WATER POLLUTION CONTROL	1	LS	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
11	MIRAFI 600X OR EQUIVALENT WOVEN GEOTEXTILE	3900	SY	\$2.50	\$9,750.00	\$8.00	\$31,200.00
	YARD RESTORATION (4" TOPSOIL, SEED AND	1750	SY	\$8.00	\$14,000.00	\$10.00	\$17,500.00
	4" CRUSHED STONE BASE (LESS THAN 7% FINES)				•		·
13	COMPACTED TO 100%	4150	SY	\$10.00	\$41,500.00	\$13.00	\$53,950.00
	CRUSHED STONE BASE, (LESS THAN 7% FINES) FOR				•		
	SUBGRADE REPAIR (INCLUDES EXCAVATION AND						
14	DISPOSAL OF UNSUITABLE MATERIAL)	140	CY	\$50.00	\$7,000.00	\$75.00	\$10,500.00
	GEOGRID REINFORCEMENT FOR SUBGRADE REPAIR						
15	(TENSAR BX 1200 OR EQUIVALENT) (10%)	415	SY	\$5.00	\$2,075.00	\$10.00	\$4,150.00
	8" PCC PAVEMENT W/ GRANULAR BASE AND						
16	INTERGRAL ROLLED CURB	4150	SY	\$70.00	\$290,500.00	\$80.00	\$332,000.00
	9" PCC PAVEMENT W/ INTERGRAL ROLLED CURB.						
17	NO GRANULAR BASE. (3 DAY MIX)	400	SY	\$82.00	\$32,800.00	\$88.00	\$35,200.00
18	6" CONCRETE APRON/DRIVEWAY REPLACEMENT	3500	SF	\$12.00	\$42,000.00	\$15.00	\$52,500.00
19	4" CONCRETE SIDEWALK REPLACEMENT	2300	SF	\$10.00	\$23,000.00	\$13.00	\$29,900.00
20	ADA CURB RAMP W/ DETECTABLE WARNINGS	4	EACH	\$600.00	\$2,400.00	\$1,400.00	\$5,600.00
	4" RIGID PERFORATED PVC UNDERDRAIN SYSTEM -						
21	INCLUDES TRANSVERSE UNDERDRAINS	2750	LF	\$12.50	\$34,375.00	\$13.00	\$35,750.00
	CROSS WALK MARKINGS W/ LONGITUDINAL						
22	STRIPING, WHITE PAINT, PER DETAIL	1	EACH	\$1,250.00	\$1,250.00	\$1,500.00	\$1,500.00
	24" STOP BAR, WHITE PAINT	15	LF	\$25.00	\$375.00	\$50.00	\$750.00
	ADJUST SANITARY MANHOLE TO GRADE PER SD1						
24	SPECS	2	EACH	\$500.00	\$1,000.00	\$450.00	\$900.00
	REMOVE AND REPLACE CASTINGS ON DOUBLE						
25	GRATE CURB INLET (VANE GRATE)	2	EACH	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00
26	DOUBLE GRATE CURB INLET	1	EACH	\$6,500.00	\$6,500.00	\$3,800.00	\$3,800.00
	Total Base Bid				\$661,825.00		\$754,895.00

Alternate	e Bid - Hergott Drive (725 x 25)			TMS Construction Inc.		Rector Excavating, In	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
1	MOBILIZATION	1	LS	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00
2	MAINTENANCE OF TRAFFIC	1	LS	\$2,000.00	\$2,000.00	\$2,500.00	
	CLEARING AND GRUBBING , (INCLUDES REMOVAL			· /	. ,		. ,
3	AND REINSTALLATION OF SIGNS AND MAILBOXES)	1	LS	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
	REMOVE CONCRETE SIDEWALK (FOR AREAS NOT						
4	TO BE REPLACED)	20	SF	\$5.00	\$100.00	\$4.00	\$80.00
	REMOVE EXISTING CONCRETE ROADWAY				-		
5	INCLUDING EXISTING CURB	2450	SY	\$20.00	\$49,000.00	\$25.00	\$61,250.00
	EXCAVATION TO PROPOSED SUBGRADE, UNDER						
6	EXISTING PAVEMENT	2450	SY	\$5.00	\$12,250.00	\$4.00	\$9,800.00
7	SUBGRADE RESHAPING AND COMPACTING	2450	SY	\$1.50	\$3,675.00	\$4.00	\$9,800.00
8	EROSION & WATER POLLUTION CONTROL	1	LS	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
9	MIRAFI 600X OR EQUIVALENT WOVEN GEOTEXTILE	2300	SY	\$2.75	\$6,325.00	\$8.50	\$19,550.00
10	YARD RESTORATION (4" TOPSOIL, SEED AND	900	SY	\$8.00	\$7,200.00	\$12.00	\$10,800.00
	4" CRUSHED STONE BASE (LESS THAN 7% FINES)			<u> </u>	. ,	·	. ,
11	COMPACTED TO 100%	2450	SY	\$10.00	\$24,500.00	\$14.00	\$34,300.00
	CRUSHED STONE BASE, (LESS THAN 7% FINES) FOR				. ,	·	. ,
	SUBGRADE REPAIR (INCLUDES EXCAVATION AND						
12	DISPOSAL OF UNSUITABLE MATERIAL)	100	CY	\$50.00	\$5,000.00	\$78.00	\$7,800.00
	GEOGRID REINFORCEMENT FOR SUBGRADE REPAIR			7	40,000.00	7.0.00	41,000100
13	(TENSAR BX 1200 OR EQUIVALENT) (10%)	250	SY	\$5.00	\$1,250.00	\$11.00	\$2,750.00
	8" PCC PAVEMENT W/ GRANULAR BASE AND		_		, ,		, ,
14	INTERGRAL ROLLED CURB	2125	SY	\$70.00	\$148,750.00	\$80.00	\$170,000.00
	8" PCC PAVEMENT W/ GRANULAR BASE AND			7:0:00	7= 10)100100	700.00	7 =
15	INTERGRAL ROLLED CURB (3 DAY MIX)	325	SY	\$77.00	\$25,025.00	\$90.00	\$29,250.00
16	ASPHALT PAVEMENT JOINT	3	EACH	\$1,500.00	\$4,500.00	\$800.00	\$2,400.00
17	6" CONCRETE APRON/DRIVEWAY REPLACEMENT	2600	SF	\$12.00	\$31,200.00	\$17.00	\$44,200.00
18	4" CONCRETE SIDEWALK REPLACEMENT	1000	SF	\$10.00	\$10,000.00	\$13.00	\$13,000.00
19	ADA CURB RAMP W/ DETECTABLE WARNINGS	2	EACH	\$500.00	\$1,000.00	\$1,400.00	\$2,800.00
	DOWNSPOUNT CONNECTION TO UNDERDRAIN				. ,		. ,
	AND INSTALL CLEANOUT, INCLUDES EXTENSION OF						
20	6" DOWNSPOUT PIPE WITH NEW PVC PIPE	1	EACH	\$500.00	\$500.00	\$200.00	\$200.00
	4" RIGID PERFORATED PVC UNDERDRAIN SYSTEM -	<u> </u>		,	,	,	,
21	INCLUDES TRANSVERSE UNDERDRAINS	1800	LF	\$12.50	\$22,500.00	\$13.00	\$23,400.00
22	24" STOP BAR, WHITE PAINT	15	LF	\$25.00	\$375.00	\$75.00	\$1,125.00
23	6" CROSSWALK LINE, WHITE PAINT	75	LF	\$15.00	\$1,125.00	\$70.00	\$5,250.00
	ADJUST SANITARY MANHOLE TO GRADE PER SD1			T	, =,=====	7	, = , = = = : : : :
24	SPECS	1	EACH	\$500.00	\$500.00	\$500.00	\$500.00
	REMOVE AND REPLACE CASTINGS ON DOUBLE	<u> </u>		,	,	,	,
25	GRATE CURB INLET (VANE GRATE)	2	EACH	\$2,600.00	\$5,200.00	\$1,500.00	\$3,000.00
	Total Alternate Bid			, =, = 30.00	\$369,975.00	, =,=00.00	\$460,255.00
					+ 300,010100		7 100,200100
	Total Base Bid + Alternate Bid				\$1,031,800.00		\$1,215,150.00